
Two Right, One Wrong Name ____________________________________ 

 

Two of the equations are solved correctly. One is solved incorrectly.  

Directions:  1. Identify the one that is wrong.  2. Highlight the mistake. 

                    3. Solve the incorrect problem properly. 

                    4. Explain your thinking. 

 

 

 5𝑣 − 4(1 + 𝑣) = −19 + 4𝑣 8(6𝑛 − 7) + 6𝑛 = 6 + 11𝑛 

5𝑣 − 4 − 4𝑣 = −19 + 4𝑣 48𝑛 − 56 + 6𝑛 = 6 + 11𝑛 

9𝑣 − 4 = −19 + 4𝑣 −6𝑛          − 6𝑛 

−4𝑣                    − 4𝑣 42𝑛 − 56            = 6 + 11𝑛 

5𝑣 − 4 = −19          +56           + 56 

     +4        + 4                     42𝑛 = 62 + 11𝑛  
5𝑣 =  −15                 −11𝑛            − 11𝑛  
5               5                 31𝑛 = 62 

𝒗 =  −𝟑                  31        31 

               𝒏 = 𝟐 

 

 

 

 

−12 − 6𝑛 = 4(6 − 6𝑛) 

−12 − 6𝑛 = 24 − 24𝑛 

        +24𝑛           + 24𝑛 

−12 + 18𝑛 = 24 

+12              + 12 

              18𝑛 = 36 

               18       18 

 𝒏 = 𝟐 
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Two of the equations are solved correctly. One is solved incorrectly.  

Directions:  1. Identify the one that is wrong.  2. Highlight the mistake. 

                    3. Solve the incorrect problem properly. 

                    4. Explain your thinking. 

 

 

 −4𝑟 − 8(5 − 6𝑟) = 4𝑟 −2 + 4𝑥 = −(𝑥 − 3) 

−4𝑟 − 40 − 48𝑟 = −12𝑟 −2 + 4𝑥 = −𝑥 + 3 

          −52𝑟 − 40 = −12𝑟 +2                      + 2 

          +52𝑟               + 52𝑟            4𝑥 =  −𝑥 + 5 

                       −40 = 40𝑟          +𝑥       + 𝑥 

              40       40            5𝑥 = 5  
 −𝟏 = 𝒓          5        5 

            𝒙 = 𝟏 

 

 

 

 

6(6𝑏 − 7) − 2 = 34 − 3𝑏 

36𝑏 − 42 − 2 = 34 − 3𝑏 

36𝑏 − 44        = 34 − 3𝑏 

+3𝑏                            + 3𝑏 

39𝑏 − 44        = 34 

         +44      = +44 

               39𝑏  =   78 

      39           39 

            𝒃 = 𝟐 
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Two of the equations are solved correctly. One is solved incorrectly.  

Directions:  1. Identify the one that is wrong.  2. Highlight the mistake. 

                    3. Solve the incorrect problem properly. 

                    4. Explain your thinking. 

 

 

 3(3𝑣 − 2) = 4𝑣 − 31 37 − 5𝑏 = 4(1 + 7𝑏) 

       9𝑣 − 6 = 4𝑣 − 31 37 − 5𝑏 = 4 + 28𝑏 

   −4𝑣          − 4𝑣 −37      − 37 

         5𝑣 − 6 = −31    −5𝑏 = −33 + 28𝑏 

               +6       + 6    −28𝑏            − 28𝑏 

                5𝑣 = −25       −33𝑏 = −33  
 5              5          -33        -33 

                 𝒗  =  −𝟓            𝒃 = 𝟏 

 

 

 

 

36 + 5𝑏 = 4(1 + 7𝑏) 

36 + 5𝑏 = 4 + 7𝑏 

      −5𝑏          − 5𝑏 

36         = 4 + 2𝑏 

−4          − 4 

 32        =       2𝑏 

   2                     2 

          𝟏𝟔 = 𝒃 
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Two of the equations are solved correctly. One is solved incorrectly.  

Directions:  1. Identify the one that is wrong.  2. Highlight the mistake. 

                    3. Solve the incorrect problem properly. 

                    4. Explain your thinking. 

 

 

 −(3𝑥 + 2) = −3𝑥 − 2 3 − 2𝑘 = −5(2𝑘 − 7) 

    −3𝑥 − 2 = −3𝑥 − 2 5 − 2𝑘 = −10𝑘 − 35 

    +3𝑥              + 3𝑥 −5                          − 5 

              −2 =           −2       −2𝑘 = −10𝑘 − 40 

 𝒊𝒏𝒇𝒊𝒏𝒊𝒕𝒆𝒍𝒚 𝒎𝒂𝒏𝒚 𝒔𝒐𝒍𝒖𝒕𝒊𝒐𝒏𝒔    +10𝑘     + 10𝑘 

                  8𝑘     =      −40  
        8                     8 

            𝒌 = −𝟓 

 

 

 

 

17 + 8𝑣 = 6(𝑣 + 5) − 1 

17 + 8𝑣 = 6𝑣 + 30 − 1 

17 + 8𝑣 = 6𝑣 + 29 

−17                  − 17 

          8𝑣 = 6𝑣 + 12 

       −6𝑣 − 6𝑣 

          2𝑣 =        12 

          2                2 

 𝒗 = 𝟔 



Two Right, One Wrong Name ____________________________________ 

 

Two of the equations are solved correctly. One is solved incorrectly.  

Directions:  1. Identify the one that is wrong.  2. Highlight the mistake. 

                    3. Solve the incorrect problem properly. 

                    4. Explain your thinking. 

 

 

−26 − 6𝑥 = 2(7𝑥 + 7) 13 − 7𝑎 = −8(𝑎 − 1) + 5 

   −26 − 6𝑥 = 14𝑥 + 14 13 − 7𝑎 = −8𝑎 + 8 +  5 

    +26                       + 26                                 −5  − 5 

             −6𝑥 = 14𝑥 + 40 13 − 7𝑎 = −8𝑎 + 3 

 −14𝑥 − 14𝑥 −13                      − 13 

           −20𝑥 =       40         −7𝑎 = −8𝑎 − 10 

            −20          − 20         +8𝑎     + 8𝑎 

                   𝒙 =  −𝟐            𝒂 = −𝟏𝟎 

 

 

 

7(1 − 7𝑥) = −39 − 3𝑥 

7 − 49𝑥 = −39 − 3𝑥 

     +49𝑥           + 49𝑥 

    7        = −39 + 46𝑥 

   +39        + 39 

         46 =        46𝑥 

        46             46 

 𝒙 = 𝟏 
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Two of the equations are solved correctly. One is solved incorrectly.  

Directions:  1. Identify the one that is wrong.  2. Highlight the mistake. 

                    3. Solve the incorrect problem properly. 

                    4. Explain your thinking. 

 

 

 37 + 3𝑎 = −8(3𝑎 − 8) −5(1 + 7𝑛) = −5 + 3𝑛 

 37 + 3𝑎 = −24𝑎 + 64 −5 − 35𝑛 = −5 + 3𝑛 

       −3𝑎       − 3𝑎 +5                 + 5 

37            = −27𝑎 + 64           −35𝑛 =        3𝑛 

−64                           − 64           −3𝑛           − 3𝑛 

−27          =  −27𝑎           −38𝑛 = 0  
−27                − 27           −38    − 38 

𝟏 = 𝒂            𝒏 = 𝟎 

 

 

 

 

−4(1 − 2𝑟) = −𝑟 − 13 

    −4 + 8𝑟 = −𝑟 − 13 

    +4                       + 4 

              8𝑟 = −𝑟 − 9 

   +𝑟 = +𝑟 

          9𝑟 =       −9 

          9                9 

 𝒓 = 𝟎 

 


